Problem report for:

BigShouldersinlinelopsz,wghtl.ttf

sha1:bd62471df33ce14bae544511f05659e9fee63038
Family name: Big Shoulders Inline

Version: Version 2.002

Parameters:
Error tolerance: 0.95
Kink—reporting aggressiveness: 0.5
Legend:
» Contour start point and direction
e Contour start point when the first two points overlap
» Contour start point in contours with wrong direction
Suggested new contour start point
Point causing kink in the contour
Kink artifact
|:| Colored contours: contours with the wrong order
[l Underweight contours

Tolerance: badness; closer to zero the worse



Summary of problems

contour_order: 1
uni030C.alt

wrong_start_point: 14
Tbar
emdash
endash
hyphen
kgreenlandic
periodcentered.locICAT.sc
radical
tbar
tbar.sc
uni0304
uni030C.alt
uni2126
uni2/E8
uni27E9

underweight: 9
emdash
endash
hyphen
periodcentered.locICAT.sc
tbar
uni0304
uni030C.alt
uni2/E8
uni2/7E9



Glyph name: uni030C.alt tolerance: 0.37

Problems: contour_order, underweight, wrong_start_point

'opsz=10.0’ proposed fix

midway interpolation




Glyph name: uni030C.alt tolerance: 0.16

Problems: contour_order, underweight, wrong_start_point

'opsz=10.0’ midway interpolation
'wght=256.9824" proposed fix




Glyph name: uni030C.alt tolerance: 0.43

Problems: contour_order, underweight, wrong_start_point

'wght=900.0’ midway interpolation
‘opsz=10.0 wght=256.9824" proposed fix
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tolerance: 0.08

Glyph name: endash

Problems: underweight, wrong_start_point

” midway interpolation

'opsz=10.0’ proposed fix




Glyph name: endash tolerance: 0.00

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix




tolerance: 0.17

Glyph name: endash

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

’opsz=10.0 wght=256.9824" proposed fix




Glyph name: radical tolerance: 0.00

Problems: wrong_start_point

bR

midway interpolation

'opsz=10.0’ proposed fix




Glyph name: radical tolerance: 0.00

Problems: wrong_start_point

'opsz=10.0’ midway interpolation

—~—

'wght=256.9824" proposed fix
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Glyph name: radical tolerance: 0.02

Problems: wrong_start_point

'wght=900.0’ midway interpolation
| [
| M
‘opsz=10.0 wght=256.9824" proposed fix
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tolerance: 0.12

Glyph name: hyphen

Problems: underweight, wrong_start_point

midway interpolation

'opsz=10.0’ proposed fix
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G|yph name: hyphen tolerance: 0.00

Problems: underweight, wrong_start_point

‘opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix
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tolerance: 0.22

Glyph name: hyphen

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

’opsz=10.0 wght=256.9824" proposed fix
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Glyph name: emdash tolerance: 0.04

Problems: underweight, wrong_start_point

bR

midway interpolation

III

'opsz=10.0’ proposed fix
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Glyph name: emdash tolerance: 0.00

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

|

'wght=256.9824" proposed fix
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Glyph name: emdash tolerance: 0.14

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

‘opsz=10.0 wght=256.9824" proposed fix
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G|yph name: Tbar tolerance: 0.00

Problems: wrong_start_point

bR

midway interpolation
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'opsz=10.0’ proposed fix
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Glyph name: Tbar

Problems: wrong_start_point

'opsz=10.0’
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'wght=256.9824’
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tolerance:

midway interpolation

| [
Il

proposed fix
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Glyph name: Tbar

Problems: wrong_start_point

'wght=900.0’
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‘opsz=10.0 wght=256.9824"
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tolerance:

midway interpolation
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proposed fix
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Glyph name: tbar.sc tolerance:

Problems: wrong_start_point

bR

midway interpolation
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'opsz=10.0’ proposed fix
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Glyph name: tbar.sc tolerance: 0.00

Problems: wrong_start_point

'opsz=10.0’ midway interpolation
-
== !
'wght=256.9824" proposed fix
LA L]
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Glyph name: tbar.sc tolerance: 0.02

Problems: wrong_start_point

'wght=900.0’ midway interpolation
| | | ]
I | —_— —
I |

—Ee==
— 1 I |
I | — —
L 1
S I W - -
‘opsz=10.0 wght=256.9824" proposed fix
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tolerance: 0.03

midway interpolation

proposed fix




Problems: wrong_start_point

'wght=256.9824"

tolerance: 0.00

midway interpolation

proposed fix




Problems: wrong_start_point

'wght=900.0’

tolerance: 0.07

midway interpolation

proposed fix




tolerance: 0.09
midway interpolation

Glyph name: uni2126

‘opsz=10.0 wght=256.9824"
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Glyph name: uni2/E8 tolerance: 0.02

Problems: underweight, wrong_start_point

bR

midway interpolation

'opsz=10.0’ proposed fix

/\

28



Glyph name: uni2/E8 tolerance: 0.00

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix
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Glyph name: uni2/E8 tolerance: 0.01

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

NN

‘opsz=10.0 wght=256.9824" proposed fix
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Glyph name: uni0304 tolerance: 0.12

Problems: underweight, wrong_start_point

midway interpolation

'opsz=10.0’ proposed fix
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Glyph name: uni0304 tolerance: 0.00

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix
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Glyph name: uni0304 tolerance: 0.16

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

’opsz=10.0 wght=256.9824" proposed fix
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Glyph name: uni2/7E9 tolerance: 0.02

Problems: underweight, wrong_start_point

bR

midway interpolation

'opsz=10.0’ proposed fix

\/

34



Glyph name: uni2/7E9 tolerance: 0.00

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation

'wght=256.9824" proposed fix
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Glyph name: uni2/7E9 tolerance: 0.01

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation
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‘opsz=10.0 wght=256.9824" proposed fix
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G|yph name: tbar tolerance: 0.02

Problems: underweight, wrong_start_point

” midway interpolation
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'opsz=10.0’ proposed fix
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G|yph name: tbar tolerance: 0.01

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation
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'wght=256.9824" proposed fix
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G|yph name: tbar tolerance: 0.11

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation
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‘opsz=10.0 wght=256.9824" proposed fix
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Glyph name: periodcentered.lociCAT.sc tolerance: 0.61

Problems: underweight, wrong_start_point

midway interpolation

'opsz=10.0’ proposed fix
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Glyph name: periodcentered.lociCAT.sc tolerance: 0.01

Problems: underweight, wrong_start_point

'opsz=10.0’ midway interpolation
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'wght=256.9824" proposed fix
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Glyph name: periodcentered.lociCAT.sc tolerance: 0.59

Problems: underweight, wrong_start_point

'wght=900.0’ midway interpolation

1l

’opsz=10.0 wght=256.9824’ proposed fix
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Glyph name: kgreenlandic tolerance: 0.95

Problems: wrong_start_point
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midway interpolation

'opsz=10.0’ proposed fix
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Index

18 Tbar
15 emdash
6 endash
12 hyphen
45 kgreenlandic
40 periodcentered.loclCAT.sc
9 radical
57 tbar
21 tbar.sc
31 uni0304
S uni030C.alt
24 uni2126
28 uni2/E8
34 uni2/7E9
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